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M,B.A, (Semestcr-IV) Eramioation
SI,CURITY ANAI,YSIS AND PORTFOLIO MANAGEMENT

P apcr-MBA/{ I 02 /CG F

Timc ; Tluee Hours] [Maximum Marks : 70

\otc :-(l) I;igues to thc righr indioarc rnarks.

(2) Attempt ALL questions.

(3) Annuity 'lables shou,ing future and prescnt values and scicntific calculator is
permittcd.

SECTION-A

1. (a) Enumcrate the listing requirements and uhy r.r,nuld an investor prcfer listed stock to an

unlistcd onc ? Are there aoy advantages to the Corporation in having a listed markct 'l

1,1

OR

(b) Distinguish behveen Ncw lssue Market and Stock Market. ls their rolc compLefientary or

competitivc l 14

SEC]TION-B

2. (a) How does Markowitz l hcory help in planning an in!€stor's portfolio ? 7

ft) Stocks L and M have yiclded the following retums for the past 1wo years :

Years Return "

LM
201 5 t2 t4

2016 l8 r 2

(i) Whar is expected rcturr on portfolio made up lo 609'o of L and 40% of N'I ?

(ii) Ilind out standard deyiation ofcach stock. 7

OR

(c) hxplain thc significance ofthc covariance in calculating portfolio risk. 7

(d) Calcu)ated the expccted retum and variance ofa porrfolio comprising two securities, assuming

that the ponlblio weights are 0.75 for securiry I :[rd 0.25 for security 2. the expected retum

lbr security 1 is l8o/o and its standard deviation is 12% while the expected rolurn and

standard deviation for security 2 are 229lo and 20% respectilel,, thc co-relation bet'necn

two securitics 0.6. '7
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(a) I{ow can an rnvcstot earr ri\klcss arhilrugi ? Can thc arLitrage ex st forever in lhe

market ? 7

(b) Vimal Enterprise has a bcta of 1.5, the risk free ralc is 7 perccnt and the expected

return on the rnarket portilio is 14 percenl. 'lhe company prescfltl),f,a)s a dividend of
Rs. 2.50 pcr share and inveslors cxnecl a growth in dividend of 12 percent per alulum for

manv ycers to comc. (-omputc *e requircd lalc olrcfunl on thc cquitv accordjng lo ('APM.

What is thc prcscnt ]]larlict pdcc rjt the equit) share asrumins thc compuLed retum as

required rclurn ? 7

oR

(c) \l'hat is an elTrcicnt tionhcr'l Ho\\ (ioes Lt establish an opliE1r.rm portlblio I 7

(d) A security pa,vs a dividenctol Rs. 1.85 and sells cLmenlly at lts. 83. TIe jccurity is expcctcd

tosellatRs.90attheendoftheyear.ThesccuritvhesabctaofI15.'lheriskfrccrate
is 5 pcr cent and the exp.clcd relurn on mlrkct inde-l is l2 per cent. .\ssess q,heller lhe

securit)' is corectlv priccd. 1

SECTIO\-C

(a) Urhat are chans ? How are Lhev imerprcted in 1'echrical r\nalysis ? 7

(b) "Fund:L,mental analysis provi,les an anahtic:rl frrLrncwork for rational :nvestmcnt dccision

makinp ." Ir,xplain. 7

OR

(c) Canstockp ccs have a 5upp6n 1.r.1^nd resistancc le\,el ?lfso-explain. 7

(d) "Thc Iirst step in industry analysis is to derermine the sta8e ofgro\\th through which thc

industr) js passinS.' Flxflain l
SE(]TIO\-D

XYZ and ABC arc thc ts,o mutual funds. XYZ has a szurplc mean ofsucccss .13 and lund ABC
has a sarnple mean ofsuccess .18, $,irh rhe riskier lund-{BC having double the bera ar 2.() as

fund XYZ. 1'he respectiYc standard derralirrns are 159/. of .^BC and 199; ofXYZ. l'hc mean
tetum o{- nrarket indcx is . I l. \\'hilc the r isl fr(c ra(c is 3o,;

Questions:

(a) Compute lhe Jcnscn index lirr cach of the lunds. What does it indicate ? 4

(b) Compute the licynor indcx lbr the imds. Inlercept thc res lts and coinparc it !o the Jenscn
index. 5

(c) Com.ute the Share ind.\ tbr the funds and rhe markct. 5

+
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